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1 5 −5 17 3XA − 5YA + 22 = 0
j

8XA − 6YA + 22 = 0k
−9 −4 17 82 5XA + 5YA + 65 = 0

j
XA + 14YA + 65 = 0o

−1 4 −7 46 4XA − 5YA + 24 = 0
j

8XA − 4YA + 24 = 0p
−22 −13 26 91 −5XA + 4YA − 58 = 0

j
−9XA + 13YA − 29 = 0t

−9 −7 17 59 3XA + 5YA + 62 = 0
j

−2XA + 7YA + 31 = 0�
−8 4 16 38 −5XA + 3YA − 52 = 0

j
XA + 11YA − 52 = 0«

6 10 −18 29 4XA − 4YA + 16 = 0
j

7XA − 5YA + 8 = 0m
1 3 −13 40 5XA − 4YA + 7 = 0

j
8XA − 5YA + 7 = 0¬

−4 11 12 8 3XA + 4YA − 32 = 0
j

7XA + 4YA − 16 = 0©l
0 4 4 45 3XA + 4YA − 16 = 0

j
7XA + 4YA − 16 = 0©©

26 −3 −34 84 5XA − 4YA − 142 = 0
j

XA − 15YA − 71 = 0©k
9 4 −13 86 −8XA − 5YA + 92 = 0

j
−4XA − 14YA + 92 = 0©o

−1 3 9 33 4XA + 3YA − 5 = 0
j

7XA + 4YA − 5 = 0©p
−9 3 13 46 −5XA + 4YA − 57 = 0

j
−2XA + 13YA − 57 = 0©t

−25 −10 37 85 −4XA + 5YA − 50 = 0
j

−7XA + 15YA − 25 = 0©�
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−7 3 11 48 −5XA + 5YA − 50 = 0
j

XA + 6YA − 25 = 0©m
−8 −4 16 46 −3XA + 4YA − 8 = 0
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−7XA + 12YA − 8 = 0©¬

−21 13 29 33 3XA + 5YA − 2 = 0
j

8XA + 13YA− = 0kl
−7 0 19 17 −6XA + 3YA − 42 = 0

j
−3XA + 5YA − 21 = 0k ©

8 12 −20 60 4XA − 4YA + 16 = 0
j

8XA − 6YA + 8 = 0kk
−25 0 29 29 8XA + 5YA + 200 = 0

j
4XA + 15YA + 100 = 0ko

5 0 −9 55 8XA − 3YA − 40 = 0
j

4XA − 4YA − 20 = 0kp
10 5 −18 57 −10XA − 4YA + 120 = 0
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−5XA − 14YA + 120 = 0kt

3 13 −7 38 5XA − 3YA + 24 = 0
j

9XA − 3YA + 12 = 0k�
8 −4 −12 24 3XA − 4YA − 40 = 0

j
XA − 12YA − 40 = 0k«

1 3 −5 16 4XA − 3YA + 5 = 0
j

7XA − 4YA + 5 = 0km
7 11 −11 11 3XA − 3YA + 12 = 0

j
7XA − 5YA + 6 = 0k¬

−9 −4 17 48 −4XA + 3YA − 24 = 0
j

−8XA + 12YA − 24 = 0ol
7 −4 −15 22 −4XA − 4YA + 12 = 0

j
−8XA − 11YA + 12 = 0­®¯° ±b²` ³o�´klµ


